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Note :

This paper is of Thirty Five (35) marks divided into
two (02) Sections A and B. Attempt the questions
contained in these sections according to the detailed
instructions given therein. Candidates should limit their
answer to the questions on the given answer sheet. No

additional (B) answer sheet will be issued.
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SECTION-A/( @US-%h )
(Long Answer Type Questions)/( &t¥f 3¥ atet W9 )

Note : Section 'A' contains Five (05) long answer type
questions of Nine and Half (9%2) marks each. Learners
are required to answer any Two (02) questions only.

(2x9%2=19)

e : wue 'w' H O (05) TH S A I 3 ™
g, T U & fau W@ Al (%) 3w fuifa 2
forenfefai &1 6 W wIA I (02) WA B SW
= 2l

1. Write the Mechanism of any three of the following reaction
in benzene :

(1) Nitration

(i) Sulphonation

(i) Friedel Craft alkylation

(iv) Halogenation
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2.

(i) What are Baeyer's strain theory and discuss its
limitation?

(i) Write any three method preparation of acetylene.
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(i) Discuss energy profile Diagram of SN! and SN?
mechanism?

(i) What are aryl halide? Give four methods of preparation
of aryl halides?
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(1) Discuss synthesis and application of DDT and BHC.

(i) Explain detail Boat and chair conformation
cyclohexane.
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What are carbocations? Explain the structure and stability
order of carbocations?
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SECTION-B/( @Us-T )
(Short Answer Type Questions)/( g I AT Y9T)

Note : Section 'B' contains Eight (08) short answer type
questions of Four (04) marks each. Learners are required
to answer any Four (04) questions only.  (4x4=16)
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1. How buta-1,3 diene is prepared? Explain the formation of
1,2 and 1,4- addition product when buta-1,3 diene react with
HBr.
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2.  Write a short notes on the following :
(i) Carbenes.

(i1) Inclusion compounds.
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3. (i) Explain Markonikov's rule and its mechanism with
suitable example

(i) Ozonolysis
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4. Explain why (any two):
(1) Phenol is more acidic than benzene.
(i) Chloroform kept in air.

(ii1)) Nitrobenzene is less reactive than benzene.
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5.  Write short notes on any two of the following :
(1) DL and RS nomenclature.
(i) Hydrogen bonding.
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6. Differenciated the following :
(i) Homolytic and Heterolytic bond cleavage

(ii)) Electrophiles and Nucleophiles.
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7. Describe (any two) :
(1) Vander Waal interactions.
(i) Aromaticity.
(iii)) Electromeric effect.
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8. Complete the following reactions:
(i) CH;CH,CH=CH, + Br, ..ccceovrrurnuve.

(i) CH,CH,NH, + CHCI, + 3KOH (alc)—2—
(iii) CHCly + Ag oo
(iv) HC = CH + Hy0 ccoooocccrrrnrs

P-56 / BSCCH-102/CH-02 [6]



feiffaa afafRaisl &1 @ HRC ;

(%) CH,CH,CH=CH, + Br,

(@) CH,CH,NH, + CHCI, + 3KOH (alc)—2
() CHCL, + Ag

(%) HC = CH + H,0
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